
Scientific Notation (D)Convert each number from scientific notation to an ordinary number.
6.538 × 10⁻⁶ = 8.345 × 10⁻³ =
2.974 × 10⁻⁶ = 4.704 × 10⁻⁵ =
7.382 × 10⁻⁶ = 2.08 × 10⁻³ =

9.7 × 10⁻⁶ = 2.18 × 10⁻⁶ =
2.873 × 10⁻⁴ = 6.86 × 10⁻⁶ =

7.6 × 10⁻³ = 8.8 × 10⁻⁵ =
1.4 × 10⁻³ = 2.717 × 10⁻⁸ =

6.519 × 10⁻⁵ = 1.2 × 10⁻⁴ =
5.1 × 10⁻⁷ = 2.2 × 10⁻⁸ =

8.483 × 10⁻⁸ = 7.579 × 10⁻⁵ =
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Scientific Notation (D) AnswersConvert each number from scientific notation to an ordinary number.
6.538 × 10⁻⁶ = 0.000006538 8.345 × 10⁻³ = 0.008345
2.974 × 10⁻⁶ = 0.000002974 4.704 × 10⁻⁵ = 0.00004704
7.382 × 10⁻⁶ = 0.000007382 2.08 × 10⁻³ = 0.00208

9.7 × 10⁻⁶ = 0.0000097 2.18 × 10⁻⁶ = 0.00000218
2.873 × 10⁻⁴ = 0.0002873 6.86 × 10⁻⁶ = 0.00000686

7.6 × 10⁻³ = 0.0076 8.8 × 10⁻⁵ = 0.000088
1.4 × 10⁻³ = 0.0014 2.717 × 10⁻⁸ = 0.00000002717

6.519 × 10⁻⁵ = 0.00006519 1.2 × 10⁻⁴ = 0.00012
5.1 × 10⁻⁷ = 0.00000051 2.2 × 10⁻⁸ = 0.000000022

8.483 × 10⁻⁸ = 0.00000008483 7.579 × 10⁻⁵ = 0.00007579
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